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Bill Gates
Problem Set 3:  Answers

Economics 202
Due:  May 27, 2001

1.
a.
Given the inverse relationship between desired investment and the rate of interest, higher interest rates will reduce investment.  With higher interest rates, firms will not undertake certain investment projects. Higher interest rates will attract capital from abroad into this country.  The flow of funds increases the demand for the country's currency and leads to an appreciation of the currency.  With the appreciated currency, the country's exports are more expensive to foreigners who purchase less; thus, exports fall.

b.
With reduced investment (and exports), aggregate demand falls (shifts left) leading to less real output and a lowered price level.  The relative magnitude of changes in output and prices depends on the shape of the SRAS curve in this region.

c.
An appropriate expansionary fiscal policy would either be an increase in government expenditures or a reduction in taxes.  Such a policy would increase (shift out) aggregate demand, leading to higher real output and a higher price level.  Nominal interest rates would increase as the price level increases.  The expansionary fiscal policy would increase the demand for money, raising interest rates.

d.
An appropriate monetary policy would be for the monetary authorities to buy government bonds, increasing the money supply, or for the monetary authorities to lower reserve requirements or reduce the discount rate. In each of these cases, the money supply would increase (or shift right). Given a constant money demand (a simplifying assumption), interest rates would fall.  This would stimulate business investment, increasing aggregate demand (shift right).  As the aggregate demand curve shifts, output and prices both increase.  The relative magnitude of changes in output and prices depends on the shape of the SRAS curve in this region.

2.
a.
Since net investment is a component of aggregate demand, the aggregate demand curve will increase or shift right.  With an increase in net investment, the capital stock will increase.  An increase in the capital stock will increase (shift out) the long-run aggregate supply function.  The potential output of the economy increases.  With the increase in aggregate demand output and price levels increase.  Again, the relative magnitude of changes in output and prices depends on the shape of the SRAS curve in this region.

b.
The increase in the capital stock, a factor of production, will lead to an increase (shift right) in the country's long run aggregate supply curve.  Over time the country can support a greater output at a lower price.

3.
a.
Expansionary monetary policy (purchasing bonds, decreasing the discount rate, decreasing reserve requirements) increases Ms.  This cuases the following chain of reactions:


Ms  =>  Ms > Md  =>  LS  =>   i  =>  Md 












  =>  Y  =>  Md
If the increase in money supply causes a significant decrease in interest rates, which cause a significant increase in investment, the aggregate demand curve will increase.  This will increase equilibrium GDP and the price level.  To be repetitious, the relative magnitude of changes in output and prices depends on the shape of the SRAS curve in this region.  If the link to interest rates is weak, or a small change in interest rates causes a large change in the demand for money, there will be a small effect on investment and aggregate demand.

Expansionary fiscal policy involves an increase in government spending or decrease in taxes.  These policies will increase aggregate demand either directly through the increase in G or indirectly by increasing disposable income and consumption.  As above, an increase in aggregate demand will increase prices and output.

b.
An increase in domestic prices will change the relative prices between domestic and foreign goods; domestic goods will be relatively more expensive, thus decreasing the level of exports and increasing the level of imports.

c.
The increase in income increases the demand for imports, assuming imports are normal goods.  There is no reason to expect exports to change.

4.
a.
If the FED increases the money supply by 5%, the supply of money will exceed the demand for money, causing the following chain of reactions:


Ms  =>  Ms > Md  =>  LS  =>   i  =>  Md 












  =>  Y  =>  Md
Assuming a significant impact on I, this will increase AD (shift right), increasing GDP and the price level, with the normal caveat on the relative magnitudes of the changes.

b.
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c.
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d.
As seen on the money market graph, any given increase in the money supply will result in a greater change in the interest rate in Country Y.  With an interest inelastic demand for money, any change in the money supply results in a greater change in the interest rate than with a more elastic demand for money.  With an elastic demand for money, as in Country X, individuals will simply choose to hold more money as the money supply increases, mitigating any effect on interest rates, I or GDP.

e.
As the interest rate falls, the level of investment increases more in Country Y than in Country X.  Because the increase in investment increases aggregate demand, the increase of GDP is greater in Country Y.  In country X decreases in interest rates do not readily translate into increases in I, so AD, GDP and prices are largely unaffected.

f.
Country Y reflects the monetarists’ description of the economy.  Monetarists believe that the demand for money is not sensitive to the interest rate, so an increase in the money supply will have a significant effect on interest rates.  In turn, the change in interest rates will have a significant impact on investment demand.  Business investment is highly sensitive to interest rates.  Thus, monetary policy is effective at increasing aggregate demand (hence their name “monetarists”).  Keynesians believe the opposite:  monetary policy does not significantly affect AD.  Of course, monetarists also believe that the Fed should not try to fine-tune the economy using monetary policy.  Even though it is effective, the monetarists believe that the economy adjust quickly to correct any disequilibria.  They believe that by the time the Fed recognizes an economic turning point (expansion or contraction), implements a policy action, and allows the action to actually affect economic conditions, the economy will have already corrected itself.  Thus, Fed actions to fine tune the economy will be destabilizing rather than stabilizing.
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